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Note:	 The question paper is divided into three sections A, B and 

C. Write answers as per given instructions.

{ZX}e :	 ¶h àíZ-nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
Very Short Answer Type Questions

Note:	 Answer all the questions. Answer of each question should 
be given in one word one sentence or 30 words. Each 
question carries 2 marks.

	 IÊS> - "A'
A{V bKw CÎmar¶ àíZ

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo EH$ eãX, EH$ dm³¶ 
¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ Xmo A§H$m| 
H$m h¡&
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1)	 (i)	 Define crime.
		  AnamY H$mo n[a^m{fV H$s{OE&

	 (ii)	 What is social disorganization?
		  gm‘m{OH$ {dKQ>Z ³¶m h¡?

	 (iii)	 Write full form of AIDS.
		  ES²>g H$m nyam Zm‘ {b{IE&

	 (iv)	 Give any two reasons of gender disparity.
		  qbJ ^oX Ho$ Xmo H$maU ~VmBE&

	 (v)	 What is Terrorism?
		  AmV§H$dmX ³¶m h¡?

	 (vi)	 Define Drug Addiction.
		  ‘mXH$ Ðì¶m| Ho$ ì¶gZ H$mo n[a^m{fV H$a|&

	 (vii)	 In which year “Dowry Prohibition Act” was passed?
		  ""XhoO {ZamoYH$ A{Y{Z¶‘'' {H$g df© nm[aV hþAm?

	 (viii)	Write any four causes of corruption.
		  ^«îQ>mMma Ho$ H$moB© Mma H$maU {b{IE&

	 (ix)	 Define proverty.
		  Jar~r H$mo n[a^m{fV H$a|&

	 (x)	 Who believes in born criminals.

		  H$m¡Zgm {dÛmZ AnamYr H$mo OÝ‘OmV ‘mZVm h¡?

	 Section - B	 4 × 10 = 40
Short Answer Questions

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.
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(IÊS> - ~)
bKw CÎmar¶ àíZ

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Define social problem discuss the causes of social problems in 
India.

	 gm‘m{OH$ g‘ñ¶m H$mo n[a^m{fV H$s{OE& ^maV ‘| gm‘m{OH$ g‘ñ¶mAm| 
Ho$ H$maUm| H$s {ddoMZm H$s{OE&

3)	 Explain the need and fundamental bases of national integration 
in India.

	 ^maV ‘| amîQ´>r¶ EH$sH$aU H$s Amdí¶H$Vm VWm ‘yb AmYmam| H$mo ñnîQ> 
H$s{OE&

4)	 Explain correlation between social deviance and social 
problems.

	 gm‘m{OH$ {dKQ>Z d gm‘m{OH$ g‘ñ¶mAm| Ho$ ‘Ü¶ ghg§~§Y H$mo ñnîQ> 
H$s{OE&

5)	 Define Unemployment. Discuss it’s causes in India.
	 ~oamoOJmar H$mo n[a^m{fV H$a|& ^maV ‘| BgHo$ H$maUm| H$s ì¶m»¶m H$s{OE&

6)	 What is terrorism? Discuss it’s causes in India.
	 AmV§H$dmX ³¶m h¡? ^maV ‘| BgHo$ H$maUm| H$s {ddoMZm H$s{OE&

7)	 Write a note on violence against women.
	 ‘{hbmAm| Ho$ {déÕ qhgm na EH$ {Q>ßnUr {b{IE&

8)	 What is AIDS? Discuss it’s causes and remedies.
	 ES²>g ³¶m h¡? BgHo$ H$maUm| Ed‘² g‘mYmZ H$s ì¶m»¶m H$s{OE&

9)	 Write a note on the problem of population growth in India.
	 ^maV ‘| OZg§»¶m d¥{Õ H$s g‘ñ¶m na EH$ {Q>ßnUr {b{IE&
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	 Section - C	 2 × 20 = 40
Long Answer Questions

Note:	 Answer any two questions. You have to delimit your 
answer up to 500 words. Each question carries 20 marks.

(IÊS> - g)
XrK© CÎmar¶ àíZ

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 

eãXm| ‘| n[agr{‘V H$a|& àË¶oH$ àíZ 20 A§H$m| H$m h¡&

10)	 What is social disorganization. Discuss it’s causes in India.
	 gm‘m{OH$ {dKQ>Z ³¶m h¡? ^maV ‘| BgHo$ H$maUm| H$s {ddoMZm H$s{OE&

11)	 Elaborate the causes and remedies of poverty in India.
	 ^maV ‘| {ZY©ZVm Ho$ H$maUm| VWm CnMma H$s ì¶m»¶m H$s{OE&

12)	 Analyse various problems of youth in India.
	 ^maV ‘| ¶wdmAm| H$s {d{^Þ g‘ñ¶mAm| H$m {díbofU H$s{OE&

13)	 Write notes on any two of the following:
	 {ZåZ{b{IV ‘| go {H$Ýht Xmo na {Q>ßnUr {b{IE&

	 (i)	 Communalism 
	 gmåàXm{¶H$VmdmX

	 (ii)	 Drug Abuse 
	 ‘mXH$ Ðì¶ Xþê$n¶moJ

	 (iii)	 Illiteracy 
	 A{ejm

	 (iv)	 Juvenile Delinquency 
	 ~mb AnamY


